Spring 2012

MA 266 - Exam # 2
Name CSO LU TIONVS PUID#

(10 pts) 1. Find the general solution of these linear homogeneous equations with constant coefficients:
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(5 pts) 2. Given that the differential equation  y® + 3" + 29" — 22y" — 35y — 5y =0 (%)

has characteristic equation (r? + 2r + 5)2(r — 3) = 0, the general solution of (x) is
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(20 pts) 3. Find the general solution of y” + 4y’ = 8t + 10.
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(5 pts) 4. A 16 pound object attached to a spring stretches it 2 ft. If the object is pulled down 18
inches below equilibrium and then given an upward velocity of 3 ft/sec and there is no
damping, the initial value problem for the vertical displacement wu(t) is
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(10 pts) 5. Find the Laplace transform of f(t) = (% —12)* .
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9" — 3y =10t
(5 pts) ©. Find the Laplace transform of the solution of y(0) =4
y'(0)=0
(Do not solve the initial value problem)
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(5 pts) 8. The Laplace transform of f(t) = u(t)(3t +2) is

=10 G = U, ()] E&@if ?ij
R

S0 %(@«; 24 1R C. e~2s<

<

M) = e’zs< 5:%% + ;?j

4s — 4

(5 pts) 9. Find the inverse Laplace transform of F(s) = EEsyT
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(10 pts) 10. Find the inverse Laplace Transform of F(s) =
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y" —dy =8+ 8us(t)
(20 pts) L1. Find the solution of the initial value problem : y(0) =0

y'(0) =0
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f(t) = L7HF(s)}

F(s) = L{f(t)}
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